(TR S SE 50

SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2018
ACCOUNTANCY (COMPUTERISED ACCOUNTING)

Maximum : 60 Scores

Time : 2 Hours
Cool-off Time : 15 Minutes

(ﬁenem.’ Instructions to Candidates : \\
» There is a ‘Cool off time 'of 15 minutes in addition to the writing time of 2 hrs.

* You are not allowed to write your answers nor to discuss anything with others during
the ‘cool aff time ',

= Use the ‘Cool off time ' to get familiar with questions and to plan your answers.

Read questions carefully before answering.
* All guestions are compulsory and only internal choice is allowed,

When you select a question, all the sub-questions must be answered from the same
question fiself.

Calculations, figures and graphs should be shown in the answer sheet itself.

Malavalam version of the questions is also provided,

« Give equations wherever necessary.

Electronic devices except non programmable caleularors are not allowed in the
Examination Hall
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PART - A
ACCOUNTANCY
Score Score
Question 1 to 5. Answer all questions. 1 aymad § oo aggo G.ie)RBdenjo
Each question carries 1 score. (5x1=5) pavmoeasyme. 1 saped allwo. (3x1=5)

1. Receipts and payments account shows
a) Cash receipts and payments
b) Income and expenses
¢) Assets and liabilities
d) All of these

2. The amount of goodwill brought in by
the new pariner is shared by old partners
in their

a) Old ratio

b} Sacrificing ratio
¢} Gaining ratio
d) New ratio

3. A partner in a firm is both an agent and
a

a) Manager b) Creditor

¢) Principal d) Broker

4. X and Y are partners-in a firm sharing
profits in the ratio of 2 :1. They admitted
Z into partnership for 1/5 share in future
profit, sacrificing ratio is

a) 1:1 by 2:1
¢c) 4:3 dy 3:2
5. Liabilities A/c Dr.

To Revaluation Alc.
This journal entry is passed for

a) Increase in liabilities
b) Decrease in liabilities
¢) No change in liabilities
d) None of these

1. omSlaigoy’ eodf ecalead @vaavenE
aoerleaaymnm
a) atemmian oo enlleie
b) cuenye eaaice
c) apmilme suouwmEe
d) spoummgloo
2. eyl nlodgeni eds0ame) el enyeudflad
myeh ale@ alddgEmdacd oRAUAES
@ alERleUSaIM),
a) e E0EaHLD

b) mey B0

c) ensanzaxp  d) aycllo eoeaup

3. wodgemd adllafloe e} aodgemd acn

mome &) afiiibic B} go
@A
a) mosmed b) @sanondd

¢) wmmom d) apuoeait
4. 2:1 agrm memyelomaict ensmago
AIBOISOMN B0} alE:Oglom are/lond]
o aodgemd@onom X go Y go Zam
1/5 eneadad oo @ apaiie asdgemon
calbend dloaonianymy oalles mad
a0EY )0

a) 1:1 b) 2:1
c) 4:3 d 3:2
5. enuowm ARSHDETE Dr.

To dleusaneauayi Groesyoens
g0 asdemm coEUENSIETTLTTIE

a) eruawym aysiemuach

b) GO By OWEMLIDUD

¢) suowym aopdgpaidlenamisd
d) spcusmormymgy
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Score
Question 6 to 10. Answer any 4
questions. Each question carries
2 score. (4>2=8)

6. Write any two differences between
Receipts and Payments A/c and
Income and Expenditure A/c.

7. Anju and Manju are partners in a firm
sharing profits in the ratio of 3 :2. Kunju
is admitted in the firm. Anju sacrifies
1/3 of her share and Manju 1/4 of her
share in favour of Kunju. Calculate new
ratio.

8. A new partner is admitted into the firm
for 1/5 share for which he contributes
Z 50, 000 in cash and furniture worth
T 25, 000.
Pass journal entry for the above.

9, M, N and O share profits and loss in
the ratio of 4 ; 3 : 2. N retires and M
and O decided. Share future profits in
the ratio of 3 : 2. Find out the gaining
ratio.

10. Make journal entries for the following at
the time of admission of a partner.

a) Unrecorded liability for goods
purchased ¥ 5,000

b) Furniture of ¥ 48,000 is found less
by 5%.

Score

6 aymad 10 cuenw)gs 62190 )smE e agem
wlaijo 4 6.010R)ARREE HEMOO)®)d. 1

sopod allme. (4x2=8)

6.

10.

omflaigmn’ @o cunoifoy Ereenz)e
aenl” eoleinl @enanie ONeLEs
nEMERIElo MENE (L |OMISIBEGR) M.

. @mersRyno aeEgiale 31 2 agm @wmial 0

mavfied e amlsym alsasonm sadmfmgd
el adgemibaonosn eysyaiom alodgemi
axflofld alynile almog@Isa0M®
allaymont.oy. @oeEs) @plees elosoiind
1/3 mowaye meeyl/4 momaye @yempal
oy cngiaad allmyaonilal, ajeile ermialome
dhEmBalIS]He .

. /5 ennealladloauid 8oy csodien

enflmfimnafied atodgemooe eaibomaod
50,000 mpeu aemmomye 23,000 o af
pwigs andenilaioie mwiges aflad]
mmowl efl.

zyenalld Siamosmmmilen) ERmIEmILE | mow
azbemal af)eimid:.

. 4:3:2 agym mpmjaomerldd elos Mo

adedsym asdgemdaonsems M ge N go.
O wo. N alotgembaziofled aflomie all
adleaynuom allaymorieasaie M go O
oo sonfelad 3 : 2 agim avmjaldmasd
2in@e atmlsom almymanl.gy swalilors

BO8aH0 dharaia NIS]Ha)dn.

mosvasnssy@ldlenmagy ae) aleflw

nlodSeman ealbeniom MIOWIETRIEMEIdEhM

embemenm R af) M.

a) mowmo uoaEle aseeykow
ruowym anysdled cpelenSEmImTmE
¥ 5,000.

b) 48,000 mpes alleiwigs anderfloyd afle
5% aoal curmamond] dsoemyemy.
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Score

-

Question 11 to 13. Answer any 2
questions. Each questidn carries

3 scores.

Il.

12.

13.

Manu and Sonu are partners sharing
profits in the ratio of 2 : 1. They decided
to admit Ponnu. At the time of admission
of Ponnu, the balance sheet showed a
balance of ¥ 24,000 in general reserve
and Profitand Loss A/c of T 15,000. Pass
entries for these items on admission of

Ponnu.

Write any three differences between
sacrificing ratio and gaining ratio.

Rithu and Jithu are partners in a firm.
Sharing profits in the ratio of 2 :3. Muthu
is admitted for 1/3 share in profits. The
goodwill of the firm is valued at
¥24,000. Show journal entries to record
goodwill in the following cases.

a) No goodwill appearing in the books
of the firm.

b) Goodwill appears in the books at
% 9,000.

(2%3=6)

NS00

Score

11 aymad 13 cuen aemelayo 2 a.aias)
smtdas prmeeav)ms. 3 arpod aflme.

12.

13.

(2x3=6)

2:1 agyem @einjalomartial ernse aslsrn
aobgemdomoniem mmycuie STLIMiCLLD.
mocid easomyadlam alodgemda
afldd eaibenyouomd allojaondangomy.
aelomyadlam e aidenim oo e
apcumes eruseldmy afldled amodd o
o) 24,000 mriw)o sloemad mRE6IEE
15,000 mpasmio oilesdeitlajggmon
#Hoemymy. eadommyalland (eawem
COMATT EDOSTT BREE DS S mow]

fUTUEIS GEbEMEED af)Pimid

ma@dnannmiosd momalsmale awnel
et mRmynlomnuyo maflean aRemElale
ayere oy SreTRud o) Rimid.

dlemoue domage 2:3 agm @vmyald
el i ein@e adleilsm alobgemibmanoen.
giomyaulam 1/3 assala]l@os]mg
esoglam endmilmqiad nieoiudle leegaion
@imymoniay 0 cunwaen muosalmeted
uyaaflefiony 24,000 ey afle aflvaiel.oy.
@OePeo@M Mdat.alnieeglel vyadal
epmonll elMuAG|S CRAEMAEOS PIm)E:
a) muooadmanied enuyesla oflealldd
ejewicled gy,
b) muoorummrland srueefiad wyninlells
aflel 9,000 mjr @emyermy.
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Score
Question 14 to 15. Answer all questions.

Each question carries 4-score. (2x4=8)

T4, The profits eamed by a firm during the
last four years are given below.

Year 2010 2011 2012 2013

Profits (3) 10,000 12,500 15,000 20,000
The capital employved in the business
is T 40,000, Normal rate of return is
25%.

Calculate the value of goodwill under
capitalisation of super profit method.

15. The amount due to a partner on his
retirement is T 4,00,000. As per the
agreement, he will be paid ¥ 40,000
in cash and the balance in four equal
annual installments with interest at 10%

p.a. Prepare his loan account.

Question No. 16-Answer the question.
5 score. (1x5=5)

16. Mr. Shekhar a partner in a firm decided
to retire from the firm on 19 October

2017. The amount due to him are
a) His share of capital T 75,000
b) Interest on capital at 10% p.a.

¢) Goodwill of the firm valued at
%24,000

d) Profit upto the date of retirement on
the basis of last years profit
T 18,000.
Prepare Shekhar’s capital account as
the accounts of the firm are closed on
31* March every year and Shekhar’s
share of profit is 1/3.

Score

14 aymad 15 cuen agglo c.assn)smidenio
pomoaaemie. 4 eapad allme. (2x4=8)

14, s} andgemidadia]munoaimo & ¥lemm moaj
tado emsle alnamen] MISY Sos)ol

lBey .
cudnsio 2010 2011 2012 2013
ese (T) 10,000 12,500 15,000 20,000

measadmemladl  olessall allelaaym
maiwme 40,000 oyuwosd. owowonam
DEMmEaEnn eoerfoss 25%.

milis nemmiand meiumomaansmiar
giyes muoosaimarilen tyuinfeled afle

M D) i,

15. afledlasim &) wodgendes ad
@yrLomyas mye 4,00,000 agaiwos, sl
inddome mewowddas 40,000 ) alsmmomye
snuioael]l myen moel mygy) noensial 10%
alellmadiMe MALMMMOET. FRQIKINS
BRIOSND MRLEYIENE MRYIOIHN.

16-scanmm ¢.2198 @M OSRP ).
5 aapad allme. (1x5=5)

16. amy andgemoow ewsud 2017 segosmud
1-20 mlgal quosaimemlad olomye
afledlsayruom alamondlenymy,. aflodsodd
CrODEIETE @RWIDEE EOLEINEG]S M

a) mewoges meiwmo T 75,000

b) ayewmadidenayss ouodalle el
10%.

c) cunsaimadiladg wyuinled afle
24,000 a0 oflvzuai oy

d) afledlend dameanwias ana
alarfltne Sxflemm UdaHa D BINEENET
meslonoMmaoeal a0 &yl
nuibtauaom eoeo 18,000 opal.
smai0Ted mieiwm e
MQYIOIBN S, TUIDalm D] e g
HHENBN D MYI0IBHME ag)gLo
cubast o modaf 31-00 olgelwosn,
awsudladg eenladme]/3 agem.
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Score

Answer the Question No. 17. 8 score,

(1%8-8)

17. Madhu and Muneer are partners in a firm

sharing profits in the ratio of 3 : 2. Their
Balance Sheet as on 31% March 2018 are
as follows.

Score

17-20 aoem ealonymuilm pamoaDS)m)s.

8 eopod. (1=8=8)

17. oupays aydloge 3 @ 2 agyrm memyeomarsicdd
81080 AtBOUERLT alddgemdaonaend.
2018 modaf 31 oy @ecumyes euosidboy
aflf @ISPIOW]o (nldonmaeT,

Balance Sheet as on 31* March 2018

Liabilities Amount T
General Reserve 20,000
Bank overdraft 20,000
Creditors 70,000
Capital

Madhu 70,000

Muneer 60,000 1,30,000

2.40,000
Melvin is admitted into the firm for

1/4 share in profits on the following

terms.

a) Melvin contribute T 40,000 as capital
and T 15,000 as goodwill.

b) Assets are revalued as building
T 65,000 furniture 10%. Less and

investment 10% appreciation
c) Depreciate machinery by 10%

Prepare necessary ledger accounts
in connection with the admission of

Melvin and the new Balance Sheet.

Assets Amount ¥
Building 60,000
Machinery 20,000
Furniture 10,000
Investment 40,000
Stock 52,000
Debtors 34.000
Cash 2,000
Bank 22,000

2,40,000

1/4 ensalladlmemiim, moevajowm
rflerucnimentias allewmacel oadalam

adofbgemadiofiad iscuudloflenmy.

a) saadacd 40,000 g oeiwmzoaie
15,000 o tojoaNeiswie aeme
BIEnDNBLOLIMEMO.

b} apqfled mosvg owym el
aymdmeljriidgpwe 6.0l &glse
T 65,000, anderilagd 10% eyoal,
nilesntiato 10% mnwileos,

c) eaatlmdes 10% emgome
BN
amaﬁnﬂmnﬁ tetectvamod)oow)

MIMLAalg Bl oW eeloysd
B HE0ENE L Blo aljmlw enae oy

atflglo mMEOODEEE.
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R FROT A

PART -B

COMPUTERISED ACCOUNTING

Score

Question 1 to 3. Answer all questions.
Each question carries 1 score.  (3x1=3)

:In_ . code alphabets
or symbols are used to identify a
particular item.

a) Mnemonic
b) Sequentnal
¢) Batch

d) None of these

2. Find the odd one out.
a} Tally
b} G-Nukhata
¢} Libre office Calc
d) DACEASY

3. Amount withdrawn by the proprietor
from the firm for personal use
is recorded through

Voucher.
a) Receipt  b) Payment
¢} Journal d) Contra

Question 4 to 7. Answer any 3
questions. Each question carries 2

SCOres. (3Ix2=6)

4, Arrange the following functions into
different categories.

NOW, PMT, TEXT, COUNTA

L7 ]

. They syntax of SLN function is
given below correct it if their is any
error.

SLN (Salvage, Life, Cost)

6. Write the steps to change a chart
type.

7. Explain any two type of charts.

Score

1 aymah 3 cue ag)glo a.ai0mysmden)o

pomeeavmie. 1 sapod allme. (3x1=3)

1. 2007 o HhacREns o
2flamemaio 6@} (aleme: umgallam
wfldl o jcdlaauon grigwocileanimmy,.

a) mysaoerlss’
b} erfleesjribes i
c) suoaf
d) semormiag
2. BRQIOM DEOETBETE:,
a) sogll
b} #l-myesoam
c) eleudeindlond somies
d) cwzesdsyomd

3. gsmoun o jemlcanow smoeiomg
sndifimaydad oflmge aseme afidbcuell o jork

. Do dlepasSwaen eneen]
ST el

a) omfladg b)) cseadd

¢) amdemat  d) esoenfiso

4 yymad T cuen agemelelo 3 aaloay
antden pEmAnDY) M. 2 sopod allme.

(3%2=6)
4, moey seosiorlidleaniom aneEaumieid

aflaflw alesnaow] maond ).
NOW, PMT, TEXT, COUNTA

5. SLN anerdnzeadd m.aimotoiymoa mosny
esosjamldlaarma. nmaaemseld
mhmymmyess. -

SLN (Salvage, Life, Cost)

6. a0tglnd ryate mogyMElimonlujmow

MSa Sl EmemEang P1mlds.

7. agemeslele cend Mmoo aldglenasa)
laf aflvdlsdens.
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Score
Questions 8 to 10. Answer any 2
questions. Each question carries
3 scores. {2x3=h)
8. The salary details of employees are
given as below in a Spread Sheet

AR O A
Score
8w 10 cueo ageoelaje 2 eaka)
e prmEOEe)mde. 3 eapsd allme.
(2x3=6)
8, amodendleaes wmaosef aloresms
goer’ moey eny oy wndgic mellel

.
A B C
Name Salary Department
1 Muhammed 60,900 Sales
2 Seema 42,900 Finance
3 Joseph 38,000 Sales
o Ruksana 44,500 Finance

Write the formula to calculate
a) Total salary of all employees

b) Total salary of employees in sales
department

¢) Average salary of all employees.

9. Match the column A with colunn B and C.

@oePa OWMNOl EesiallSlenamo

CLICD DA TOLEICLISE: D M.

a) aggln emodlangdleaesic e
imrlgo

b) emai@m’ allgjodgeadien aggio
pmosflesdieaeswe @pad: (brige

) agge amovlandleaieswmio tamIUedl

temige
2, camogo A amogo B @je C eymol swosdl
afladien.
A B C
Depreciation Payroll PMT
GP=BP - DA r HRA | Loan Repayment SLN
NPER Straight line method | BP * 50%

10. Write a short note on Receipt veucher
and specify the function key.

Answer the Question No. 11, which

carries 5 scores, (1x5=5)

11. Write any five features of accounting
software.

10, omilalg carnajdemendlal 6o ainely
Alunemeasm@wio anednud &l
€U | BIMIBE .

11-00 aamm Eaid@)@TIT HEMRODPIm]dE.

5 ayad. (1x5=5)

11. moaeuaglow moal{o@OSHaIes
agamesleje @en malenamens
PLT .
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